
Cut aluminium profile and gasket to a lenght 
equal to glass width.

LBFL001 n° 2pz L=LV
LBFL002 n° 1pz L=LV
LBFL005 n° 1pz L=LV

1
HTDIW SSALG = L

1
2

3

4
5

6

7
8

LBFL001 external clamp
LBFL002 internal wedge
LBFL005 clamp gasket
LBFL016 aluminium side cap
TS + 4,8x16 
nut M8 14x14
nut M8 13x13
pin M8x12

8

1
5

4

3

6
7

2

5

4

Istruzione FILO LUCIDO - GB - CD0399 - Rel.1.1 - 01/2011

Label glass clamps system is made for layered 
and tempered glass, with thickness between 10 
and 11mm and weight not superior to 28 Kg/m².

Maximum height admitted is 3500mm.

GLASS CLAMPS ASSEMBLING KIT INSTRUCTIONS
for LBFL101, LBFL102, LBFL103 available in row and anodized finish



Clean glass and aluminium profile with 
alchool in the zones where gasket will be 
placed.

2

Place the two profiles LBFL001 and insert the 
wedge LBFL002.

4

Thake away from the gasket the adhesive 
protection film beginning from the middle 
and place the gasket on the glass.

3

2



Place into the proper guide the nuts M8x14 
and M8x13.

5

Space properly the nuts M8 14x14 with a maximum distance of 180mm.
Insert M8 13x13 nuts taking care of placing them near door trolleys.

6

KIT M8 13x13 M8 14x14

LBFL101

LBFL102

LBFL103

4 6

4 10

4 14

3

mm081 XAM

mm081 XAM

mm081 XAM

mm081 XAM

mm081 XAM



Screw M8 pins into M8 14x14 nuts, tighteen 
the nuts with a torque of 12Nm.

7

Place aluminium side caps with flared screws 
4,8x16, included.

8

LABEL S.p.A.
Via U. Ilariuzzi, 17/A - S.Pancrazio P.se - 43126 - Parma - Italia
Tel. (+39) 0521/6752 - Fax (+39) 0521/675222 - infocom@labelspa.it - www.labelspa.com

Fix leaf connection 
(provided with the 
automation) on M8 
13x13 nuts.

9

12Nm

At the end of the installation manually very if the clamps holds properly the glass.

If the manual verify is ok, is possible to make the setup control of clamps holding, screws and 
pins tighteening is recommended any six months.


